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Leo’s word of the day:

Today’s challenges

On Monday, Adam walked
10,324m. On Tuesday he
walked 4,398m. On
Wednesday he walked
8,655m & on Thursday
He walked 7,559.

What was his average
distance per day?

Hint: To find the average, add all
the numbers and then divide the
total by the amount of numbers!

Use Leo’s word of the

i % day in a new sentence.
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Spacious
Large, with a lot of space.
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The year five classroom was spacious, comfortable
and had a fantastic view of the playgrownd.
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(Think about changing the suffix!)

A Quick Maths
768 + 56.5
398 - 400
86 x 45
999 = 3

Today in history:

In 1976, Concorde begins
commercial service, flying
from London to Bahrain and
Paris to Rio.
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